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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according

to the detailed instructions given therein.

Candidates should limit their answers to the

questions on the given answer sheet. No

additional (B) answer sheet will be issued.

uksV :µ ;g iz'u&i= lÙkj (70) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any two (02)

questions only.

uksV :µ [k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, mUuhl (19) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. Explain the types of equilibrium in micro economics.

O;f"V vFkZ'kkL= esa larqyu ds izdkjksa dh O;k[;k dhft,A

2. What do you understand by elasticity of demand ?

Prove that the elasticity of demand is different at

different points of a demand curve ?

ek¡x dh yksp ls vki D;k le>rs gSa \ bl ckr dks fl¼ dhft,

fd ,d ek¡x oØ ds fofHkUu fcUnqvksa ij ek¡x dh yksp fHkUu&fHkUu

gksrh gSa \
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3. Explain the concept of opportunity cost. What is the

importance of opportunity cost in economies ?

volj ykxr dh /kkj.kk dks le>kb,A volj ykxr dk vFkZ'kkL=

esa D;k egRo gS \

4. Explain the difference in price determination under

monopoly and perfect competition.

,dkf/kdkj rFkk iw.kZ izfr;ksfxrk ds vUrxZr ewY; fu/kkZj ds vUrj

dks le>kb,A

5. Explain the modern theory of interest.

C;kt ds vk/kqfud fl¼kUr dh O;k[;k dhft,A

Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer

type questions of Eight (08) marks each. Learners

are required to answer any four (04) questions

only.
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uksV :µ [k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, vkB (08) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks buesa

ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA

1. What do you understand by law of Equi-marginal

utility ?

le&lhekUr mi;ksfxrk fu;e ls vki D;k le>rs gSa \

2. What are the difficulties in measuring consumer

surplus ?

miHkksDrk dh cpr dks ekius esa dkSu lh dfBukb;k¡ gksrh gS \

3. Explain the characteristics of indifference curves.

vuf/keku oØksa ds fo'ks"krkvksa dh O;k[;k dhft,A

4. Explain the relationship between average and marginal

cost.

vkSlr ,oa lhekar ykxr ds e/; lEcU/k Li"V dhft,A

5. What is meant by marginal rate of substitution ?

izfrLFkkiu dh lhekar nj ls D;k vk'k; gS \
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6. Discuss the general characteristics of production function.

mRiknu Qyu dh lkeku; fo'ks"krkvksa dh foosppk dhft,A

7. Explain diminishing returns to scale.

iSekus ds ?kVrs izfrQyksa dh O;k[;k dhft,A

8. Explain the classical theory of wages.

etnwjh ds izfrf"B fl¼kUr dh O;k[;k dhft,A

**************


